fmﬂ& x4 ()
podo! pe R plwds O S

)
(ﬂu (4215 20 _ (43 )
Wy g 0
/- 4+z7217f4‘é 2
Xg = - 76 _-2t¢ 7
c2 Y

XC/%/}][/(7%
J b= )

([z/ Ry A B S A b=




7 Wy ﬁ(@\)(*z-ﬁ/;??&)
W/%W (3/1/2//@)(4/2%? &/

k@“"‘ Qo)) =(Fx )~ en))

Ky = ‘:7 4y /QY;Q
2 (9w eRIAm e N [Icx) A (gea) 5 4]
(S5 eR I eN )T (2w vin ea)e 47

42}% §6
T
X -=%,2

lllllll

0 2¢







(V242 ) 70 €7

5%
/%%
L
~1 L8
/><
|

5 A2 ZZL_J:?W -
7z 2 pes i
: 7
X2¢?k+2:4 Z 3 - X 7=
_{./I/‘ 274_2
47 Gr+1=() ., *3§v7r<z 2
_ EA 75
_0 _ - 3
D=9 -6G7 T






h

2 A= Mm”%&f:ﬁ/

/l:/]

U é/)\/

[

M
‘J”A/iﬂﬁz" ﬂm:4 : /:24 PR 7= 7/47‘76)/2‘7/ - /
@W|4¢4M/W n r%

Y R 0
i/l‘2 = Z‘/L‘Q * (,ﬁ+”) :%/ﬂ“7//2ﬂ—»7/
A= |

L |f % - (Pe)
e = TR 2)(2R43)
(che = btkifobess )

(pe3p +2)(2p 47%) %KJ%W?#‘WX%&
§ ¢ =
ﬁ%?ﬁ%?}%*( o 2%19%2+”;3£ Lo
- HOTOy p S



